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16S rRNAR A & A} 8-8ld x| A 3Ee] Y0130 2 A ZLE| = Treponema sp., Actinobacillus actin-
omycetemcomitans, Porphyromonas gingivalis, Fusobacterium sp., Bacteroides forsythus, Prevotella
intermedia, Peptostreptococcus micros®] B-4; YA AF G FAloM 9] BXEE A7 v|2Lsf] Bt
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1. RPPDT, RPPHT-A|A] Ald- 8- £ Treponema sp.7} 22} 96.79% 66.67%E B R0, A, actin-
omycetemcomitanst 75.00%, 33.33%, P. gingivalisT 96.79%, 56.44%, Fusobacterium sp.<
99.36%, 79.49%, B. forsythust 94.23%, 48.72%, P. intermedia 78.85%, 41.03%, P, micros<
85.90%, 43.59%F 42} ViR Tt

Z79] AT =5 RPPHT A Bt} RPPDoNA t] 2 Alite] EXEE E{THp(0.01),

2. GRPPD, LRPPD<Z, GRPPHT, LRPPH A Al X =% Treponema sp.7} 100% , 92.65%,
72.73%, 58.82%F K. 0.1, A, actinomycetemcomitanst 79.55%, 69,12%, 31.82%, 35.29%, P
gingivalist= 98,86%, 94,12%, 63.64%, 47.06%, Fusobacterium sp.— 100%, 98.53%, 77.27%,



82.35%, B, forsythus= 94.32%, 94.12%, 59.09%, 35.29%, P. intermedia’t 89.77%, 64.71%,
50.00%, 29.41%, P. micros= 90.91%, 79.41%, 45.45%, 41.18%,& Ztzt e},
GRPPD0) LRPPDN| A .t} Treponema sp., P, intermedia, P, micros®] A 7FA} Alto] s
TEXEE B HP(0.05).
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o] do] A & o =4l F& IR AFFelA 7] 77HA] At S0] TaT HIAER
EqEEE A0 2 AtaE, Ay F4 A4 XFFolMe T4 F45 AP AF Gl ARt

A 7¥A) X138 QA (Treponema sp., P. intermedia, P, micros)®) T Bo] EEXHE A0 E Ko}, ARk
& APA] AF Fol A A o= o] A 7HA] A gto] ofdl IE-E ah= A0 2 A,




